=

el

2

i PEHEA
%

1.0 FEHIAT (=B

1.1 i+§rg1‘u it Imperial (Ibf, in, HP....) v

1.2 fErhEk P 40.00 39.20 [HP]
1.3 el (FR) n 970 390 [/min]
1.4 SHCIER (L) n 970 384.34 [/min]
1.5 FER/= EApE= [ 2.487 2.524

1.6 i Mk 2597.94 6425.57 [Ib.in]
17 EFLE @) B. &R ad

1.8 MR R () B..[7 v

1.9 JEREE A ERH hd

1.10 S ! v

111 SECHE aH e v

2.0 EEE

2.1 ]

2.2 ‘ D...FI%E&H’&([XM?) / DIN 8187, 1SO R-606, BS 228 7[
2.3 BFIE1-8E 27.56 BIE v [in]
2.4 INFHCHTY R 17 21

2.5 Eiﬁﬁﬁr-‘—iﬁlﬁ%

26 RSB AT e v

27 BRERR

2.8| Type || z1 | z2 | n2 | i A | PP | v || SD | p | SP | Pp% | m
29| 16B-2 || 21 | 53 | 3843 | 252 | 40.18 || 62.75 | 1704 || 22.06 | 1321 | 1.23 | 83 | 120.6 v
3.0  ESHEHIE

3.1 %Eﬁﬁf_ - %‘??fg:}%_No_ (ﬂ.ﬂjgg) 20B - 2 (1.25) A 4

3.2 S/ HB t 1.250 2

3.3 UK - € ) R 2 21 53 23 (min=15) |
3.4 HEVIHH Dp 8.387 21.100 [in]
3.5 FRIHE / HEFE( C 40.18 50 [in]
3.6 IIFRHEY / BN f-BeK i C 40.12 20.6 - 200 [in]

3.7 g X 102 102

3.8 K L 127.5 [in]
3.9 i/ &K v 2129.65 < 2236 [ft/min]
3.10 &k /i Pp 58.78 < 68.3 [HP]
3.11 9K/ #ulEI A Fu/Fc 619.8 197.3 [Ibf]
3.12 B A GFENi) /5] FB/Fr 38218 817.1 [Ibf]
3.13 WW%%}W&E\%? e SB 46.77 > 20.41

3.14 SRR BEIART 2 £ SD 35.98 > 15.95

3.15 HER T AR ) p 892 < 1383.4 [psi]
3.16 A 2 E SP 1.55 > 1.00

3.17 UL ERITbE m 197.57 53.55 [Ib]
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4.0  ZHH £

41 DEBERK

4.2 Wikt K1 1.00 0.90

4.3 fEzpr=£5r K2 1.05 1.05

44 i (RIEE5) K3 1.30 1.30

4.5 HEN K4 1.08 1.08

4.6 I K5 1.00 1.00

4.7 BER¥ K6 1.00 1.00

4.8 FamRH K7 1.00 1.00

4.9 RIFHAFHA TR 1S0 10823 hd

4.10 HEFFIE A

4.11 YREHF EFR) R

4.12 SRR y 0.80 [in]

4.13 FHC2RUN [ RREE 2105.87 | 2133.40 [ft/min]

4.14 FED [~ 55 X 1.30 [%]

50 Rst
d1 0.401 [in]
d3 0.750 [in]
b1 0.770 [in]
b2 1.142 [in]
t 1.250 [in]
g 1.024 [in]
I 3.059 [in]
e 1.435 [in]
sl 0.177 [in]
s2 0.138 [in]
8.981 21.694 [in]
8.387 21.100 [in]
7.622 20.336 [in]
0.382 [in]
2.898 11.442 [in]
125.714 128.302 [°1
0.716 [in]
0.094 [in]
0.602 [in]
0.875 [in]
6.637 19350 |  [in]







